GBE

GBE Services Corporation

6011 N. Yorktown
Tulsa Oklahoma 74130
918/428-8665
Fax 918/428-8690

Email: gbeserv@msn.com

- Websites: www.gbe-services.com

www.eagle-manufacturing.net

“EAGLE” SUPERWRAP
SMALL HAND TAPE WRAP MACHINE

The Superwrap is a small hand held tape wrapping machine used to apply cold tape to the
outside of pipes to aid in the prevention of corrosion. The machine will accept 1 % inch
and 3 inch tape core sizes. It can apply tape widths of 2 inches up to 12 inches.

OPERATION INSTRUCTIONS OF THE SUPERWRAPPER

1.) Place the large and small wheels in the appropriate holes for the pipe diameter and

tape width being used. (Refer to directions of the following pages.)

2.) Place the roll of tape on the machine by first removing the break-open nut and

washer on the removable side plate.
3.) Remove the removable side plate.

4.) Put the roll of tape on the machine and replace the removable side plate, nut and

washer.



GBE

GBE Services Corporation

6011 N. Yorktown
Tulsa Oklahoma 74130
918/428-8665
Fax 918/428-8690

SUPERWRAP INSTRUCTIONS (continued)

5.) When using tapes with a release liner, run the liner on the release take-up
mechanism (larger diameter aluminum tube) and roll it on the drum 1% turns to

make sure the liner will be held securely.

6.) To adjust the tension on the tape, tighten both the break-open nut and the

corresponding wing nut on the opposite end of the machine.

7.) Overlap is adjusted by the angle of the machine. This is achieved by setting the
machine to the appropriate level off the ground as indicated on the following pages.

The slot on the side plate can be adjusted to achieve this.
8.) Be sure the tape is pulling squarely off the machine. Begin application of the tape.

9.) The tape is applied by pulling the machine around the pipe. The small, solid bars on
either side of the machine are used as handles to move the machine around the pipe.
As the machine is pulled around the pipe, the tape will be applied by rolling off the
roll of tape onto the pipe.

10.) After the tape is used, repeat the directions above for the next roll of tape.
11.) PLEASE NOTE: When pulling the machine around the pipe, be sure to grasp the

handles in the center of the machine and allow the machine to take it’s own course—
DO NOT TRY TO STEER THE MACHINE |



GBE Services Corporation

Superwrap Settings
Pipe Size Tape Width Overlap Settings
2" 2" 50% #2 & # 12 small wheels outside

#23 & # 33 large wheels outside
Distance from ground: 4 1/2"

2.5" 2" 50% #2 & # 12 small wheels outside
#23 & # 33 large wheels outside
Distance from ground: 4 1/8"

3" 2" 50% #2 & # 12 small wheels outside
#23 & # 33 large wheels outside
Distance from ground: 3 3/8"

3" 4" 52% #5 & # 12 small wheels outside
#24 & # 31 large wheels outside
Distance from ground: 5 3/4"

4" 2" : 172 #3 & # 13 small wheels outside
#24 large wheels outside
#34 large wheels outside
Distance from ground: 4 1/4"

4" 4" 50% #4 & # 14 small wheels outside
#21 & # 35 large wheels outside
Distance from ground: 6 1/8"

4 1/2" 4" 1/2" # 5 & # 14 small wheels outside
: #22 & # 35 large wheels outside
Distance from ground: 6 3/8"

6" 4" 5/8" #5 & # 16 small wheels outside
#23 & # 35 large wheels outside
Distance from ground: 4 7/8"

6" 4" 50% #5 & # 14 small wheels outside
#25 & # 34 large wheels outside
Distance from ground: 2 3/8"

6" 6" 50% #6 & # 17 small wheels inside
#22 & # 33 large wheels inside
Distance from ground: 5 3/4"



Pipe Size

Tape Width

GBE Services Corporation
Superwrap Settings

Overlap

Settings

8"

9"

1 Oll

12"

14"

16"

1 8"

4"

6"

6"

6"

6"

6"

6"

6"

5/ "

50%

3/ "

3/ 1"

50%

5/8"

3/4"

1“

1"

52%

#6 & # 14 small wheels outside
#24 & # 37 large wheels outside
Distance from ground: 3 1/4"

#6 & # 14 small wheels outside
#24 & # 37 large wheels outside
Distance from ground: 2 1/4"

#6 & # 14 small wheels outside
#24 & # 37 large wheels outside
Distance from ground: 4 3/4"

#6 & # 14 small wheels outside
#24 & # 37 large wheels outside
Distance from ground: 4 1/2"

# 6 & # 14 small wheels outside
#24 & # 37 large wheels outside
Distance from ground: 3 3/4"

#5 & # 14 small wheels outside
#24 & # 37 large wheels outside
Distance from ground: 3 3/4"

#6 & # 16 small wheels outside
#26 & # 36 large wheels outside
Distance from ground: 2 7/8"

#7 & # 17 small wheels outside
#27 & # 37 large wheels outside
Distance from ground: 2 1/4"

#10 & # 20 small wheels outside
#21 & # 40 large wheels outside
Distance from ground: 2"

#6 & # 14 small wheels outside
#22 & # 32 large wheels outside
Distance from ground: 1/2"



GBE Services Corporation

Superwrap Settings
Pipe Size Tape Width Overlap Settings
20" 6" 1" # 10 & # 20 small wheels outside

# 30 & # 40 large wheels outside
Distance from ground: 1 1/2"

22" 4" 50% # 10 & # 20 small wheels outside
# 30 & # 40 large wheels outside
Distance from ground: 1/2"

24" 6" 1" # 10 & # 20 small wheels outside
# 30 & # 40 large wheels outside
Distance from ground: 3/4"

30" 6" 1" # 10 & # 20 small wheels outside
: # 30 & # 40 large wheels outside
Distance from ground: 1 1/4"



q-._.| Ty .
hﬂﬂ.;%f i

* mhm_ﬁ nye) adey wysadey pusy fwramdag
ILLITY . PES-009 -paraiipod
; g > oy - Seygomy
m. e — : x b DHOTLD-05H ~ 05H %07 adey
| PO TE s valaves : ..f.umaﬁlr!-ln.. TSR

148 TN . ] - -

. £998-9%¥ (B16)  SKTrL MO ‘VRTN : B J0 3PN OY) U8 BT
. : NOIIVHOINOD BAANAE an% - Asmapy 3y aany Wlley, aeg




SmaLL WHEEL LARGE WHEEL

e AR

 EnD VIEW S8 PLATE WITH ADJusTMENT Enp View OF Removaste §:ng PLaTe

-

WHERE GROUNG LEVEL S§TIINGS ARE GFVENy THE WHEELS MusT
8E /N PROPER HOLE SETTINGSE, ANE THE TAPE MUST AL80 8
QN SURELWRAR, .

AETER WHEELE AND TAPE ARE OA SUREZWEAR, #2Laoe SUFER AL
QN LEVEL GROUNG 4N ST OVERLAR 70 PROPER SET7/F.
THESE ARE ARPRUIIMATE SETTINGS AND Willl CHANGS wrire
BIFCERENT Trlss GF TAPE, FHE TAPE SHOLILYD [OME DFX

u.\xm.,m.h.ﬁm.m{bh.‘&mV}\mtﬁhm.x&ﬁ%hxkhh\z.b,.«h-bi&n&..r&}.c_msk.
" BEE SRETCH ') .

GRE SERVICES CORPORATION

__=. TULRA, OK 74135 (91R) 425-R665
.U.vl BRAE! Nais APFROYRL BY DRAWNEY &= o
W. vave: |]-28-98 REVISED
E ~
[LE)
w

TTTAPE PAYTH
YT FiIP

Superwiar Hanp TarzeTeR

AW G Nu M IER

WKeRL SETTMNG INSTRUCSTION | £ 40002




4
o

GBE Services Corporation - Superwrap Settings

Part Name

Number of Each

A DB BADANWOWWWWWWWWWNNNDN

N NDNNS @A G O el owd o wd o
ON=20O0ONOONBRWN20PXNOG K WN =

Release Liner Tube
Belt Tension Idler
Plain Wheel
V-Belt Wheel
Extension Handle
Overlap Adjuster Arm
Bracket with Siot
Bracket
V-Belt Hub
Washer
Brake Pad. 1/2" Hole
Brake Pad. 29/32" Hole
Modification, Spanner Bushing
Fast-Lock Clamping Knob
1/2" ID x 3/4" OD x 1 1/2" L Bronze Bushing
7/8" 1D x 1 1/8" OD x 1" L Bronze Bushing
V-Belt
Bearing
3" Wheel, Coulson
4" Wheel, Coulson
Spring, Vontinental
7/16 External Snap Ring
11/16 External Snap Ring
1/8" x 1/2" L Steel Roll Pin
1/2 - 13 UNC x 24" All thread
3/8" - 16 UNC x 3/8" Lg Steel Hex HD Cap screw
1/2 - 13 UNC x 1" Lg Steel Hex HD Cap screw
1/2 - 13 UNC x 5" Lg Steel Hex HD Cap screw
5/16 - 18 UNC x 2" Lg Steel Hex HD Cap screw
5/16 — 18 X 1" Length Carriage Bolt
3/8 - 16 UNC x 1 1/2" Lg Steel Hex HD Cap screw
5/16 - 18 UNC x Steel Wing Nut
3/8 - 16 UNC x Steel Wing Nut
1/2 - 13 UNC x Steel Wing Nut
1/2 - 13 UNC x Hex Head Nut
1/2 - 13 UNC x Hex HD Half Nut
1/2 - 13 UNC x Teflon Insert Lock Nut
1/2 Steel Flat Washer
5/16 UNC Steel Wing Nut
5/16 Steel Flat Nut Washer
5/16" Steel Flat Washer
3/8" Steel Flat Washer
1/4" Steel Flat Washer

N—\NK;AA—\—\—\—\—\—\-A—X-h—*N—‘—\CD-\—\—*NNA—\—\NAA—\—\—\—\—*-\-AI\J—\—\—\—\



Q ~ dVMMYIdNS ATOVE

—————
————————y
IE)(




